KiX'1001: ENGINEERING MATHEMATICS 1

Tutorial 8: Integration

1) Find
j‘lnl[;t:2 + 2) dx
2) Find
fxz Inx dx
3) Find
J-xjexz dx
4) Find
(x+1)
fﬂ +x% —6x ax
5) Find
J‘ﬂ +xi+x+2 4
xt+3x2 42 *
6) Find
f tan® (3x)sec*(3x) dx
7) Find
J- sin*(x)cos” (x) dx
8) Find

J‘ dx
x2y9 — x?

Additional exercises

Please integrate
x+7
1. [ dx
x4 (x+2)

2. f cCos X

sin3x +sinx




Answer:

x(In (2 +2) = 2) + 2v/2tan™" (‘%) +C

1.
ilnx—é.r3+(f‘

2. 3
1@ -1D+C

3.

s —inlxl+Fnk+2-Enx+3[+C
tan"'x+1ln (> +2)+C

5.

. Ltan* (3x) + {5tan® (3x) + C

, Lsin®x — 3sin’ x + {sin”x — f;sin' x + C
L Ll

8. 9 X

Additional exercises (Solutions)

5

. —Elnlzl —2—1- +:—:in|x+21+C
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